

SCHEDULE OF GENERAL FEES and CHARGES 2021/22

(INCLUDING GST TREATMENT)

Corporate and Community Services

Saleyards

Cattle (including 1 off scale NLIS scan)

Yarded regular sales per head	Υ	\$9.09	\$0.91	\$10.00
Yarded regular store sales per head	Υ	\$9.09	\$0.91	\$10.00
Carcass competition and Fat Cattle competition (through agent) per head	Y	\$9.09	\$0.91	\$10.00
Infrastructure Replacement Levy Cattle per head	Υ	\$1.14	\$0.11	\$1.25
EU pre-scanning and checking EU eligibility per head	Υ	\$4.27	\$0.43	\$4.70

Agent Fee – National Vendor Declaration

NVD scanning (this is per NVD)	Υ	\$1.59	\$0.16	\$1.75
--------------------------------	---	--------	--------	--------

NLIS Fees

Saleyards Tag Fee (per tag) (replacement of non-reader tag)	Υ	\$13.45	\$1.35	\$14.80
Saleyards Tag Fee (per tag) (fitted by agent prior to scan)	Υ	\$13.45	\$1.35	\$14.80
Saleyards Tag Fee (per tag) (presented at scan without tag)	Υ	\$34.55	\$3.45	\$38.00
NLIS Sheep Tag Fee (per tag)	Υ	\$0.91	\$0.09	\$1.00

Sheep and Goats

Sold per head	Y	\$0.86	\$0.09	\$0.95
Infrastructure Replacement Levy Sheep per head	Υ	\$0.45	\$0.05	\$0.50

Horses

Yarded per head	Υ	\$9.09	\$0.91	\$10.00
Infrastructure Replacement Levy Horses per head	Y	\$1.14	\$0.11	\$1.25

Stud, Horse, Goat and Sheep Sales

Application fee in advance at time of booking (plus standard yard dues per head)	Υ	\$730.91	\$73.09	\$804.00
Bookings must be made 6 weeks in advance				

Special Store and Fat Cattle Sales

Application fee in advance at time of booking (plus standard yard dues per head)	Y	\$153.64	\$15.36	\$169.00
Bookings must be made 6 weeks in advance				

Application Fees

Any individual/agent who receives any type of commission from the sale of livestock will be required to pay agent selling permit fees. These fees will be payable even where sales are made through contracted auctioneers and commissions are earned by a third party, then that third party will be liable to pay the agent selling permit fees.

New Agent	Υ	\$1,400.00	\$140.00	\$1,540.00
Agent – Cattle Selling Permit (including Security Access Gate Key)	Y	\$5,477.27	\$547.73	\$6,025.00
Agent – Sheep Selling Permit (including Security Access Gate Key)	Y	\$3,227.27	\$322.73	\$3,550.00
Agent – Special Stud Sale Selling Permit – per sale	Υ	\$669.09	\$66.91	\$736.00
Replacement Security Access Key	Υ	\$41.36	\$4.14	\$45.50

Transhipping Fees

All cattle and horse – per head (removed within 24 hours)	Υ	\$1.36	\$0.14	\$1.50
Infrastructure Replacement Levy Cattle and Horses per head	Υ	\$1.14	\$0.11	\$1.25
All sheep and goats – per head (removed within 24 hours)	Υ	\$0.32	\$0.03	\$0.35
Infrastructure Replacement Levy Sheep and Goats per head	Υ	\$0.45	\$0.05	\$0.50

Private Weighings

All sales must be conducted through an agent with a current Warwick Saleyards selling permit

Per head	Υ	\$9.09	\$0.91	\$10.00
Horses per head	Υ	\$9.09	\$0.91	\$10.00
Infrastructure Replacement Levy per head	Υ	\$1.14	\$0.11	\$1.25

Holding Fees – except in relation to use of the yards for regional events where there is a recognised community benefit (eg Warwick Campdraft and Rodeo, Warwick Show etc) where no holding fee will be applicable

Cattle and Horses – per head per day	Υ	\$1.82	\$0.18	\$2.00
Applicable midday on Thursday following cattle sale or held longer	er than 24 hours for stock not purchas	sed at sale		
Sheep and Goats – per head per day	Υ	\$0.27	\$0.03	\$0.30
Applicable midday on Friday following sheep sale or held longer than 24 hours for stock not purchased at sale				

Use of Saleyards Infrastructure to Process Stock

Minimum charge	Υ	\$49.09	\$4.91	\$54.00	
Plus charge per head	Υ	\$2.27	\$0.23	\$2.50	
Infrastructure Replacement Levy per head (cattle)	Υ	\$1.14	\$0.11	\$1.25	
Agents who have a current selling permit are exempt from this charge					

Truck Wash Facility

Use of facility (per minute)	Υ	\$0.86	\$0.09	\$0.95
Minimum	Υ	\$5.91	\$0.59	\$6.50
Avdata Truck Wash Tag	Υ	\$42.73	\$4.27	\$47.00

					Year 21/22
Name	Head Of Power	GST	Fee	GST	Fee
			(excl. GST)		(incl. GST)

After Hours Access (AvData Gatekeeper) must have own Avdata tag

Yearly Access Fee First Tag (application)	Υ	\$99.09	\$9.91	\$109.00
Yearly Additional Avdata Tag	Υ	\$10.91	\$1.09	\$12.00
Avdata Gate Tag	Υ	\$42.73	\$4.27	\$47.00

Feeding Charges

All stock must be fed to the satisfaction of the Superintendent. All stock will be fed at 10.00 am the day following the sale, unless special arrangements have been made.

Small Bale Hay Cost + Fee	Υ	Cost per Bale + \$4.50 Handling Fee
Round Bale Hay Cost + Fee	Υ	Cost per Bale + \$22.50 Handling Fee

Disposal of Dead Animals – from Saleyards

Per animal > 100kg	Υ	\$171.82	\$17.18	\$189.00
Per animal < 100kg	Υ	\$33.64	\$3.36	\$37.00

Call Out Fee

Monday – Saturday	Y	\$184.55	\$18.45	\$203.00
Sunday	Υ	\$274.55	\$27.45	\$302.00

Sale of Animal Waste

Sale of Animal Waste (waste is to be loaded and transported at the purchasers own expense and risk) – per box trailer or ute load	Υ	\$9.09	\$0.91	\$10.00
Minimum \$5.30				